# Script des fonctions
def chiffrementSubstitution(texte,code) :
alphabet = "ABCDEFGHIJKLMNOPQRSTUVWXYZ"

cle = "LJUQNOSYMCDABXIRPZKWFEVHGT"
newlexte = ""

for c in texte :
if c =" ":
if code :
i1 = alphabet.index(c)
newC = cle[i]
else :
i = cle.index(c)
newC = alphabet[i]
else : newC = C
newlexte = newlexte + newC

return newlexte

# Programme principal

texte = "JEUX OLYMPIQUES"

texte2 = "U NKW OMXM"

txt = chiffrementSubstitution(texte, True)
print(txt)

txt2 = chiffrementSubstitution(texte?, False)
print(txt2)




